Title: 01 Multiple attribute instances
1.	A query to find training expenses payments for ICs may have multiple instances of an attribute because: 
@ As many instances as needed to perform informative summarizations may be used.
a.	 Users are accustomed to viewing results with multiple instances
b.	The query
 will not execute with only a single instance of the attribute
*c.	Different summarizations of the underlying data may be informative  
d.	Every query run on monetary data attributes must sum the amounts 

Title: 02 Delete to rollup
2.	Suppose a query has: 

1  The attributes WorkerID, SumOfItemizedAmount, and PayItemName in design view

2  An open Totals row with the Total parameter for SumOfItemizedAmount set to Sum

To edit the query to show the sums of ItemizedAmounts by WorkerID:
@ Deleting the attribute PayItemName allows Group By to summarize SumOfItemizedAmount by WorkerID, which is the intended result.
a.	Add a new attribute for that prspose 
*b.	Delete the attribute PayItemName  
c.	Close the Totals row and add an attribute
d.	Editing the query is insufficient for this objective 

Title: 03 find null Status
3.	Suppose there are workers that have received payments for which there is no Status value in the data. If a query is started as follows, where the attributes WorkerID, WorkCode, and Status have been made available to the query, what else does the query need to identify workers with no Status value?
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@ The left outer join on Worker to Job shows all rows in Worker and only those in Job with matching WorkCode. To show only workers with no Status value, put Is Null in the Criteria for Status. “” does not work in place of Is Null because null values can only be tested with Is Null (or Is Not Null).
a.	“” in the Criteria for WorkCode
b.	“” in the Criteria for Status
c.	Is Null in the Criteria for WorkerID
*d.	Is Null in the Criteria for Status 

Title: 04 IC data only
4.	To obtain access to data pertaining only to workers designated as independent contractors (ICs) for analysis requires joining the tables:
@ Analyzing data pertaining to ICs requires having joined Job and Worker on WorkerID to identify workers with Status = “IC”. Although joining the Job and WorkerPayment tables allows selecting only ICs, that approach bypasses the analysis of the detailed records in other tables that are needed to determine if the entirety of the payments complies with IRS factors. 
a.	Job and WorkerPayment
*b.	Job and Worker
c.	PayItem and WorkerInvoice
d.	PayItem and WorkerPayment

Title: 05 data for training
5.	A query for getting access to all the data needed to find and summarize training expenses (if any) for which ICs were reimbursed requires joining the following tables:
@ The required data include Status from the Job table, PayItemName (or PayItemID) from Payitem, and dollar amounts from WorkerItemizedAmount. 
a.	Job, PayItem, WorkerItemizedAmount
b.	PayItem, Worker, WorkerItemized Amount
*c.	Job, PayItem, Worker, WorkerItemizedAmount
d.	PayItem, Worker, WorkerInvoice, WorkerItemizedAmount

Title: 06 two instances of attribute
6.	Putting two instances of ItemizedAmount in a query: 
@ Using two instances in the same query is a good idea because it allows showing the sum of the dollar amounts and a count of the items making up the sum in a single query, reducing the number of queries. 
a.	Is a bad idea because it impedes finding the summarization of the dollar amounts
b.	Is a bad idea because it unnecessarily complicates an otherwise simply query
c.	Is a good idea because it has the potential to lead to more uniform query structure
*d.	Is a good idea because it allows summing the amounts and counting the items

Title: 07 sum of expenses by worker
7.	Suppose there is a query OfficeEquipExpense with the attributes PayItemID, PayItemName, ItemizedAmount (two instances), Status, and WorkerID. PayItemID has been restricted to show only office equipment expenses for laptops, tablets, and scanners. Status has been restricted to show only ICs. The best approach to finding the sum of the expenses for each worker is to:
@ The best approach is to open the Totals row, set Sum on one ItemizedAmount, and set Count on the other ItemizedAmount. Given the query OfficeEquipExpense, this is the most direct approach. 
*a.	Open the Totals row and set Sum and Count on ItemizedAmount
b.	Open the Totals row and set Sum on PayItemID and  Ascending on WorkerID 
c.	Create an expression that sums one of the ItemizedAmount attributes
d.	Create an expression that groups one of the ItemizedAmount attributes

Title: 08 mileage and parking
8.	Suppose the tables joined as shown in the following figure were in a query for finding reimbursed travel expenses (mileage and parking):
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This use of the tables:
@ The join on WorkCode from the Worker table to the Job table is omitted. Without it, there is no distinction between employees and ICs, and the results give many more rows than the result needs. 
a.	Includes all joins required for obtaining correct results
b.	Makes good use of default joins in the query manager
c.	Has one unneeded join and omits an essential join
*d.	Omits a join that is needed to give the desired results

Title: 09 query on a query
9.	The query in the following figure for showing payments to ICs on a time worked basis does not show the tables Worker, Job, or WorkerItemizedAmount because:
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@ The tables are not shown explicitly in the query design because the query summarizes (Group By PayItemID and Sum the amounts) results from the early query, 12-1 TimePayments. 
a.	Those tables were not needed to find time-based payments
*b.	The query summarizes results from another query
c.	There were no time-based payments to ICs in the data
d.	The query was incorrectly formulated for that purpose

[bookmark: _GoBack]Title: 10 replicate query
10.	Some queries can be replicated, potentially reducing the overall query effort. Suppose the following query, which finds training expenses, is replicated and renamed. 
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To find office equipment expense, the query needs to be edited to change:
@ To find office equipment expenses instead of training expenses, change Criteria values to correspond to PayItem values for office equipment expense. 
*a.	Criteria values
b.	Criteria and Status values
c.	Group By settings
d.	Group By settings and Sort order
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